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6HJDOD� SXML� GDQ� V\XNXU� SHQXOLV� SDQMDWNDQ� NHSDGD� $OODK� 6:7� \DQJ� WHODK

PHPEHULNDQ�UDKPDW�VHUWD�KLGD\DKQ\D�VHKLQJJD�SHQXOLV�GDSDW�PHQ\HOHVDLNDQ�WXJDV

DNKLU� LQL�� 'HQJDQ� VHOHVDLQ\D SHQ\XVXQDQ� 7XJDV� $NKLU� LQL� SHQXOLV� PHQ\DGDUL

EDQ\DN� SLKDN� \DQJ� WHODK� PHQGXNXQJ�� PHPELPELQJ�� GDQ� EHUNRQWULEXVL� EDJL

SHQXOLV� EDLN� VHFDUD� ODQJVXQJ� PDXSXQ� WLGDN� ODQJVXQJ� VHKLQJJD� SDGD DNKLUQ\D�

7XJDV�$NKLU�LQL�GDSDW GLVHOHVDLNDQ�GHQJDQ�VHEDLN�EDLNQ\D�

'DODP�NHVHPSDWDQ�LQL��SHQXOLV�LQJLQ�PHQJXFDSNDQ�WHULPD�NDVLK�\DQJ VHEHVDU�

EHVDUQ\D NHSDGD�

�� .HGXD�RUDQJ�WXD�\DQJ�VD\D��%DSDN�6\DKUL]DO�GDQ�,EX�6XU\DQL \DQJ�WDN�SHUQDK�

EHUKHQWL� PHPEHULNDQ� GRD�� VHPDQJDW�� QDVHKDW�� VHUWD� PRWLYDVL� WHUEHVDU� EDJL�

SHQXOLV�

�� $GLN�DGLN� VD\D�6HOO\�2NWDYLDQL� GDQ�=XIIDU�5L]N\�<DQVDK�\DQJ�PHPEHULNDQ�

GXNXQJDQ�NHSDGD�VD\D�VXSD\D�FHSDW�OXOXV�GL�MHQMDQJ�6��LQL�

�� 6HOXUXK� VDXGDUD� VD\D��<DQJ� WDN� EHUKHQWL�PHPEHULNDQ� VHPDQJDW�PRUDO�� GRD��

QDVHKDW�� GDQ� PRWLYDVL� XQWXN� SHQXOLV� DJDU� VHJHUD� PHQ\HOHVDLNDQ�

SHQGLGLNDQQ\D�

�� %DSDN� 'U�� (UZLQ� 6XVDQWR�� 6�7��� 0�� 7�� VHODNX� SHPELPELQJ� � \DQJ� WHODK�

PHPEDQWX�GDODP�SHUDQFDQJDQ�WXJDV�DNKLU�LQL��.DUHQD�LOPX��VDUDQ���GDQ�QDVLKDW�

EDSDN�PHPEXDW�SHQJHUMDDQ�WXJDV�DNKLU�LQL�GDSDW�GLVHOHVDLNDQ�

�� %DSDN� $JXQJ� 6XU\D� :LERZR� 6�7�� 0�7� VHODNX� SHPELPELQJ� �� \DQJ� WHODK�

PHPEHULNDQ� NHVHGLDDQ� ZDNWXQ\D� XQWXN� PHPEDQWX� PHUDQFDQJ�� PHPEHULNDQ�

PDVXNDQ��QDVHKDW�� GDQ�PHPRWLYDVL��.HSDGD� VD\D�GDQ�DNKLUQ\D�SHQXOLV�GDSDW�

PHQ\HOHVDLNDQ�WXJDV�DNKLU�LQL�GHQJDQ�VHEDLN�EDLNQ\D�

�� %DSDN� ,VZDK\XGL� +LGD\DW� 6�7��� 0�7� � VHODNX� GRVHQ� ZDOL� \DQJ� WHODK�

PHPELPELQJ�GDQ�PHPRWLYDVL�DQDN�GLGLNQ\D�VHODPD�EHUNXOLDK�GL�8QLYHUVLWDV�

7HONRP�

�� 6HOXUXK� GRVHQ� GDQ� VWDII� 8QLYHUVLWDV� 7HONRP� \DQJ� WHODK� PHQXQMDQJ� SHQXOLV

GDODP�PHQXQWXW�LOPX�GL�8QLYHUVLWDV�7HONRP�

�� .HOXDUJD� EHVDU�7HNQLN�(OHNWUR� ��.07(� �� \DQJ� WHODK�PHPEHULNDQ� LOPX� GDQ�

SHQJDODPDQ� EHUKDUJD� VHODPD� EHUNXOLDK� GL� 7HONRP� 8QLYHUVLW\�� NKXVXVQ\D�
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DQJNDWDQ������\DQJ�WHODK�EHUMXDQJ�EHUVDPD�XQWXN�PHQ\HOHVDLNDQ�SHQGLGLNDQ�

LQL�

�� 6DKDEDW�7,0%(/%$62�+DQLI��$]L]��3XWUL��)DMUL��)DNKU\��5H]N\��:LG\��,PUDQ�

\DQJ�WHODK�PHQMDODQL���WDKXQ�EHUVDPD�VXVDK�GDQ�VHQDQJ��<DQJ�VDEDU�EHUWHPDQ�

GHQJDQ� SHQXOLV� WXJDV� DNKLU� LQL�� 6HPRJD� WDOL� SHUVDXGDUDDQ� LQL� WLGDN� SHUQDK�

SXWXV�DPLQ�

��� $QDN�NRQWUDNDQ�3DN�&HFHQ�$GLW��$GXP��+H[D�GDQ�5H]N\ \DQJ�PHQMDGL�WHPDQ�

EHUELQFDQJ��FXUKDW GDQ�EHUFHULWD��7HWDS�VROLG�

��� :DQLWD�\DQJ�VHODOX�PHPEHULNDQ�NDVLK�VD\DQJ��VDUDQ��VHPDQJDW�GDQ�PRWLYDVL��

6HUWD� PHQMDGL� WHPDQ�� VDKDEDW� GDODP� VXVDK� PDXSXQ� VHQDQJ�� 0HVNLSXQ� MDXK�

GLVDQD�,]]DWXO�%DQDW�

��� 6HPXD�SLKDN�\DQJ�WLGDN�GDSDW�SHQXOLV�VHEXWNDQ�VDWX�SHUVDWX��7HULPD�NDVLK DWDV�

EDQWXDQ��GRD��GDQ�VHPDQJDWQ\D�

+DQ\D�LQL�\DQJ�GDSDW�VD\D�EHULNDQ�VHEDJDL�XFDSDQ�WHULPD�NDVLK�DWDV

VHPXD�\DQJ�WHODK�GLEHULNDQ�NHSDGD�VD\D��VHPRJD�VHPXD�NHEDLNDQ�\DQJ�WHODK

GLEHULNDQ�NHSDGD�VD\D�PHQGDSDWNDQ�EDODVDQ�\DQJ�EHUOLSDW�GDUL�7XKDQ�<0(�


